Lecture 15

Exercise 1: What sequence of characters is transmitted when
an escape character appears in the frame? If the ASCII charac-
ter X-OFF (0x13) were to be escaped?
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Exercise 2: Whatare the first four bytes of a PPP-encapsulated
IP frame? What bytes would be transmitted for an IP address
field with value 127.126.0.17 If the IP frame was 60 bytes long,
no bytes needed to be escaped and the default PPP link op-
tions were being used, what would be the length of the PPP
frame? Can an encapsulated IP frame distinguish between
data and padding?
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Exercise 3: Would LCP or NCP be used to negotiate compres-
sion (e.g. zip)? To configure a DNS server? To set the baud rate

on the serial interface?
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